CBSE Test Paper 03
CH-05 Complex & Quadratic

1. Ifex =w? —w— 3, w being a non real cube root of unity, then the value of
z* 4 623 + 1022 — 122 — 19 is

b. none of these
c. 19
d. 12
2. Find the Amplitude of —2
a. -3
b. %
c T
d. none of these

3. The number of solutions of the equation Im (2%) = 0, || = 2 is

d. 3
4. Square roots of i are

1 .

b. none of these
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10.

11.

12.

13.

14.

15.

c. =1

d. i%(l — 1)

Find the Amplitude of —1 — 2
a. -3m/4

b. 37/4

c /4

d. none of these

Fill in the blanks:

The complex number (sin135° - i sin135°) is written in polar form as
Fill in the blanks:

The conjugate of complex number 3 +11is

Express (% + gz> — %z + (_75 — z) in the form of a + ib.

Express the complex number sin 50° + i cos 50° in the polar form.
Find the product of complex number (- 5 + 7i), (- 13 - 3i).

Ifzq =3+ 2iand zy = 2 - i, then verify that 2129 = 21 22

Simplify the following complex number 9 — 7 + 6 + 43 — 9 + 42

Find the value of (4 + 3+/—20)Y2 + (4 - 3,/—20)/2,

(a—i—i)2

2a—1 "’

(a®+1)?
4a2+1

Ifx+1y= show that 22+y? =
1—1

T e .
COS — 781N —+
3 + 3

Write the complex number z = in the polar form.
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